DELHI URBAN SHELTER IMPROVEMENT BOARD GOVERNMENT OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEEER, C-9 KILOKARI OPP. MAHARANI BAGH, NEW DELHI 110014.

NIQ No. 07 /EE/C-9/DUSIB/2019-20/D-495

Dated: 11/09/2019

NOTICE INVITING QUOTATIONS

Executive Engineer, C-9, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies who are registered with CPWD, Railways, MES and Civil Wing of BSNL, M.C.D, DDA, NDMC, Delhi Jal Board, I&F Deptt in appropriate class on percentage rate basis in sealed cover for the following works:-

		Estimated Cost	Time of Completion
S.N 1.	Name of work NOW: C/o Night Shelter (Revenue) SH: P/F emergency exists gate and repair of boundry wall at Night shelter (Code No.71) New Sanjay Amar Colony, Vishwas Nagar.	Rs. 93,380.00	30 days after the date of issue of work order.

The quotations along with copy of valid Registration, PAN Card & Vat should reach to the office of the Executive Engineer, C-9, DUSIB, 1, Kilokari, Ring Road opposite Maharani Bagh, New Delhi-110014 latest by 3.00 PM on 13.09.2019 which shall be opened on the same day at 3.30 PM in the presence of intending quotationers or their representatives. The intending quotationer may collect the schedule of quantities, special terms and conditions and other information from the office of the Executive Engineer, C-9, / DUSIB. After depositing DD for Rs. 10000/= in favour of E.E.C-09/DUSIB. The terms & Conditions of the NIQ are as follows:-

- The work shall be carried out as per CPWD specifications 2014 Vol. | & || /latest editions of the specifications, with up to date (the date of receipt of tender) correction slips, for works at Delhi.
- Cement/steel required shall be arranged by the Agency and same shall conform to relevant specification /I.S. Code.
- 3. Payment shall be made as per actual measurement at site of work.
- No T& P shall be issued.
- No extra charges shall be paid except for the rates quoted.
- Conditional quotations shall be liable to rejection.
- For any disputes the matter shall be referred to SE-III DUSIB for final decision and the same shall be binding upon both the parties.
- 10% Security shall be deducted from the bills of contractor which shall be refunded after three month of completion of work.
- Necessary statutory deductions will be made as per prevailing Law.
- 10. Work shall be completed to the satisfaction of Engineer-in-charge.
- 11. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.

EXECUTIVE ENGINEER C-9 D.U.S.I.B.

NOTICE BOARD

Copy to:

- C-E-2/DUSIB for kind information please.
- 2. S.E-3/DUSIB for kind information please.
- Concerned AE/C-9, DUSIB.
- 4. AAO/C-9
- 5. HC/C-9
- Office copy.

D.U.S.I.B.

DELHI URBAN SHELTER IMPROVEMENT BOARD GOVT. OF NCT OF DELHI

OFFICE OF THE EXECUTIVE ENGINEER C-9

C/O Night Shelter (Revenue). Name of

Providing and fixing emergency exit gate and repair of boundary wall at Night Shelter(Code No. 71) New Sub Head : Sanjay Amar Colony, Vishwas Nagar.

SI.	Ref.	Description of work	No. or		Estimated Rate		AMOUNT
No.	Code	2000.1p.ii.o.i.	Qty.	Unit	Figure	Words	Rs. F
1	4.1	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:	i i				
1.1	4.1.3	1:2:4 (1 cement : 2 coarse sand(zone-III) : 4 graded stone aggregate 20 mm nominal size)	3.00	Cum	5481.95	Rupees Five Thousand Four Hundred & Eighty One - Paise Ninety Five Only	16445.85
2	6.1	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in:					
2.1	6.1.2	Cement mortar 1:6 (1 cement : 6 coarse sand)	5.05	Cum	4751.65	Rupees Four Thousand Seven Hundred & Fifty One - Paise Sixty Five Only	23995.83
3	10.5	Providing and fixing 1 mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer.					
3.1	10.5.1	Using M.S. angels 40x40x6 mm for diagonal braces	1.85	Sqm	2870.25	Rupees Two Thousand Eight Hundred & Seventy - Paise Twenty Five Only	5309.96
4		Providing and fixing T-iron frames for doors, windows and ventilators of mild steel Teesections, joints mitred and welded, including fixing of necessary butt hinges and screws and applying a priming coat of approved steel primer.			The state of the s		
4.1	10.13	Fixing with 15x3 mm lugs 10 cm long embedded in cement concrete block 15x10x10 cm of C.C. 1:3:6 (1 Cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).		Kg	74.05	Rupees Seventy Four - Paise Five Only	1529.13

SI.	Dof	Description of work	No. or		Estimated Rate		AMOUNT
No.	Code	Description of work	Qty.	Unit	Figure	Words	Rs. P
5	11.36	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete	3.50	Sqm	744.80	Rupees Seven Hundred & Fourty Four - Paise Eighty Only	2606.80
6	13.4.1	12 mm cement plaster of mix : 1:4 (1 cement: 4 coarse sand)	15.20	Sqm	180.85	Rupees One Hundred & Eighty - Paise Eighty Five Only	2748.92
7	13.18	Neat cement punning				Rupees Fourty Two - Paise Sixty	
		Washed stone grit plaster on exterior walls of	15.20	Sqm	42.60	Only	647.52
	40.70	height upto 10 metre above ground level, in two layers, under layer 12mm cement plaster 1:4 (1cement: 4 coarse sand), furrowing the under layer with scratching tool, applying cement slurry on the under layer @ 2 Kg of cement per square metre, top layer 15mm cement plaster 1:1/2:2 (1 cement: 1/2 coarse sand: 2 stone chipping 10mm nominal size), in panels with groove all around as per approved pattern, including scrubbing and washing the top layer with brushes and water to expose the stone chippings, complete as per specification and direction of Engineer-in- charge (Payment for providing grooves shall be made separately).	48.71	Sqm	582.60	Rupees Five Hundred & Eighty Two - Paise Sixty Only	28378.4
9	13.73	Forming groove of uniform size in the top layer of washed stone grit plaster as per approved pattern using wooden battens, nailed to the under layer, including removal of wooden battens, repair to the edges of panels and finishing the groove complete as per specifications and direction of the Engineer-incharge:	SUCCESSOR PROMES UNIQUES				
9.1	13.73	15 mm wide and 15 mm deep groove	30.00	m	34.40	Rupees Thirty Four - Paise Fourty Only	1032.0
10	15.7	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge					

SI. No.	Ref.	Description of work	No. or Qty.	Unit	Estimated Rate		AMOUNT
					Figure	Words	Rs. P
10.1		In cement mortar	3.33	Cum		Rupees Eight Hundred & Fourty Two - Paise Seventy Five Only	2806.36
11	Appd'	Providing and laying dry brick aggregate 40 mm nominla size in foundation & plinth or under floors at all levels including spreading and ramming in layers as directed by Engineer in charge.	on.	Cum	1229.24	Rupees One Thousand Two Hundred & Twenty Nine - Paise Twenty Four Only	3687.72
		Total	4		1		89188.54
		Add 15.69% on cost index Rs.					13993.68
		Total					103182.22
		Less 9.50% on cost index Rs.					-9802.31
		Total				7	93379.91

Say Rs. 93,380/-

EE/C09

AE-III/C-9

JE